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1a. The x° term of P(x) is "C, (1" = x)’ ="Csx*. The

coefficient is —"C;.

. (1= = P(x), L P(x)=-n1-2)"",

_1-x

2a. The graph of g(x) is the reflection in the x-axis of the graph

of %|x| , followed by horizontal and vertical translations of 2

units each. The equation of g(x) is y= —%|x - 2| +2.

2b.

xt -1 _ (x2 —1)(x2 +1)
O -xP4x—1 X (x=1)+1(x-1)
(x—i—l)(x—l)(x2 +1)
()c—l)(x2 +1)

3. wv=

=x+1and x#1.
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2x S7 & St =«
Hence —=—, —. s.x=——, —.

3 6 6 4 4

’ +h_ ’,
5. fle )= F()+hf (), wzf(ﬂ,
001-028 g, . p=2s.
p—2.7
6a. f(x)=;,g(x)=e””
V2x—1
1 1

“2e-1>0.

- flg(x))= = .
V28(x)-1 20~ -1
Hence e >%, e <2, x<log,2.

The domain is (— o, log, 2).

1

6b. g(f(x))=e 7, s 2x-1>0, x>%.
g( f (x)) is a increasing function.
As x5 gl )0

As x — oo, g(f(x))%l’.
The range is (0,1).

6e. f(x)= Jﬁ () =21,

el @) )= el ) ) = e

V2x-1
da S0 R A= ey 1 e
dx(g((f(X)) )=t e ot et
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7. J.(logf 2x)ix—log, (2x) = Ief(x)dx ’ 10b. Given a4 (xcosx)=cosx—xsinx,

.[ef(x)dx - J- (log, 2x)ix = —log, (2x), dx
J‘(ef(x)_ IOge zx}ix _ —eloge (2)(), LSoXSImXx =Cosx —E(XCOSX) .
ef(x) —log, 2x = 4 (— elog, (2x)) , Since f—xsin xdx = 1 ,
dx o T 2
ef (x)-log, 2x=-%, ’”( d jd T
X I cos x —— (xcos x) ldx ==,
B 0 dx 2
ef(e)— log, 2e =——, m, el 4
e V4
ef(e)—log62—1=—1. !cosxdx—{(a(xcosx)jdx=5,
log, 2
.'.f(d:i. = Jsin x]I =[x cos x| =z
€ 2
Hence sin (me )- m, cos(me )= % .

8a. Pr(X <a)+Pr(X 2b)=1-Prla<x<b)=1-0.95=0.05.

Please inform mathline @itute.com re conceptual,
mathematical and/or typing errors

8b. p=0.5, Bi(n,0.5) is symmetric about the mean 4 .

o =Jnp(l- p) =+/0.25n =0.5Vn .

For smallest value of b—a, a=py—-20 and b=pu+20.

b—a=40=2n.

Pr(X <anmnX >b)_Pr(b<X<a)

9a. Pr(X <alX >b)= _
a. Pr(X <alX>b) Pr(X >b) Pr(X >b)

_ Pr(X >b)-Pr(X >a)
B Pr(X >b)

_02-0.1
02

05.

9b. Pr(X <a)=0.9 and Pr(X >5)=02, ~.b<a.

If X >a,then X cannotbe <b .
Hence Pr(X <b|X>a):0.

10a. For 0<x<rm, f'(x)=l(sin(x)+xcosx) and
T

#m,)=0. - %(sin(mm m, cos(m, )= 0.

Hence sin(mo )+ m, cos(mv) =0.
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